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o® v, Which of the following is the
analogy of WORSHIP : SACRIFICE?

) Prediction : Augury

%) Weapon : Centurion

) Massacre : Invasion

¥) Burial : Mortuary

(8% ©@: ) Prediction : Augury

Live MCQ Analytics™: 7f5% Teamret: 19%,
el TeAnTel: 24%, ©GH FEN: 55%

Y 9T 2% 7T PEF 7Y AT WRATE
JIYT CFICS Live MCQ G% T55 Fgee |
&Y 9. Which of the following resembles
MOCK: IMITATE?

F) Condense : Summarize

¥) Taunt : Challenges

) Adapt : Duplicate

q) Satirize : Charm

3% T&7: ) Condense : Summarize

Live MCQ Analytics™: 3% Seamre!: 19%,
e Teanel: 19%, TGd FEA: 61%

I 9T 22 7T PR @Y AcAT GNP
T AT Live MCQ @™ 337567 5o |
2¥ v, What is the antonym of the word
ABJURE?

<) Commingle ¥) Arbitrate

) Espouse ¥) Appease

¥ B&R: o) Espouse

Live MCQ Analytics™: Af6& S@awret: 12%,
T TEAMISl: 18%, OB BCA: 68%

I G2 &% 7T PR A AT WRAE
T TS Live MCQ Q% 5 ey |
2% 5. Which of the following is the
opposite of the word INHIBIT?

F) Encourage ¥) Curb

%) Debar ¥) Discourage

Ffé< BG: F) Encourage

Live MCQ Analytics™: Af5& S@awret: 34%,
T TEAMISl: 13%, OGS ICAA: 52%

YL 9T 8% 7T PP 7Y AHT WRAGF
TP TICS Live MCQ GN* Z3755 5o 1
&% vo. Select the term that contrasts
INTRICATE-

) Foolish ) Simple

%) Straight forward ¥) Easy

e TER: <) Simple

Live MCQ Analytics™: o Saawrel: 9%, o
TGIST: 32%, T&F AT 57%

I 9T 2% 7T PEF 7Y AT ARATE
TIYT TICS Live MCQ GN* T3755 5o 1

&Y ©d, Antonym of the word FLAGITIOUS is

) Frivolous
) Vapid q) Innocent

S Tex: q) Innocent

Live MCQ Analytics™: o< Teamret: 13%,
T Teanel: 10%, ©Gd FEA: 76%

<) Ignorant
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2% o, The term ALACRITY is same as-

) Suspicion ¥) Enthusiasm

) Unwillingly ¥) Hesitatingly

T T ¥) Enthusiasm

Live MCQ AnalyticsTM:"'ﬂCB?s Teanel: 33%, &
TeaTel: 9%, B8R I 56%

W 92 2% 72 P Y QAT GRAE D AW
Live MCQ @* Z555 5o |

¥ ©9, Complete the sentence with
appropriate word - 'The aspiring candidate's

performance in the debate all but

any hope he may have had of winning the
election".
<) nullifies
) guarantees q) accentuates.

Ffé< e ) nullifies

Live MCQ Analytics™: 5% S@amrer: 26%, g1
TEAMSl: 17%, & FCA: 55%

J: 9 & 7T PR WY ACHT GCRAAGE FIY TS
Live MCQ @ 357557 P54 |

% 98, Pick appropriate word and complete

%) encourages

the sentence- ‘philosophical problems arise
when people ask questions that, though
very _____ , have certain characteristics in
common’'.
F) relevant <) elementary

%) controversial q) diverse

fée Tex: q) diverse

Live MCQ Analytics™: Ff5% Teamret: 15%,
el TeAnTel: 32%, T@d FEA: 51%

Y 9T 2% 7T PEF 7Y AT WRATE
DT T Live MCQ GI% Z55eT 5o |

&Y o¢. Fill up the gap of the sentence ' am

accustomed _____ plain living’ choosing
right preposition.

) to Q) of

) in 9) by

o Tex: JF) to

Live MCQ Analytics™: Sf0% S@awre!: 60%,
el SQqlel: 9%, B FEA: 29%

T 92 22 72 PP Y AT GAF
T AT Live MCQ @™ 337567 5o |

ey vy, Fill up the gap of the sentence 'We

such a conduct'

must not approve

selecting appropriate preposition.

) for ) to
) of q) with
o Tex: ) of

Live MCQ Analytics™: Af5& S@awret: 52%,
% TeanTel: 13%, ©@F FE: 34%

T 9T 22 72 P WY ACAT WA
T CTICS Live MCQ @7 IFGT e |

& ©q. Choose the correct replacement of
the underlined portion of the sentence 'If I
would have known about the traffic jam at
the bridge, I would have taken the alternate
route'.

%) If I would have known about

) If T could of known about

) If I was aware of

q) Had I known about

o Tea: q) Had I known about

Live MCQ Analytics™: 5T Teawrel: 60%,
e TGaulel: 6%, ©GF P 32%

TY: 9T 2fE 72 PP Y ECET GRAAT
T RIS Live MCQ @i* 237567 F5oe |

2% ob. Which of the following sentences is

correct?

) He agreed at my proposal

) He agreed for my proposal

) He agreed to my proposal

9) He agreed with my proposal

(3% BER: o) He agreed to my proposal
Live MCQ Analytics™: o< Seamret: 42%,
T TGAMISl: 28%, OB ICA: 28%
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ey 5. Identify the correct sentence from
the following -

JF) The mobile set almost same like mine
¥) The mobile set is almost same like me
) The mobile set is almost same like myself
¥) The mobile set is almost the same as
mine

T T q) The mobile set is almost the
same as mine

Live MCQ AnalyticsTM:ﬂﬁW Tl 53%,
% Teamel: 12%, ©@F FE: 34%

IR 9T % 72 P Y ACAT WA
T T Live MCQ @i% E3T5eT 5o |

&% 8o, Which underlined part of the
following sentence has an error?

(a) The most difficult job is (b) to band and
then (c) lifting (d) the weight.

<) (a) ) (b)
M () 9) (d)
3 Ta=: ) ()

Live MCQ Analytics™: Af5& S@awret: 35%,
el SeanTel: 23%, ©@d FE: 41%

I 42 2% 72 PR Y AT FAA P
DT T Live MCQ GI% TF5eT 5o |
oy 8. Select the appropriate word for
expressing the sentence ‘One who cannot be
corrected' -

<) Incurable ¥) Hardened

?) Incorrigible q) Invulnerable
Afd% B&: ) Incorrigible

Live MCQ Analytics™: Ff5% Teamret: 49%,
e TGawel: 9%, TGF PR 41%

IR 9T &% 72 P WY ACET WA
JIT FIC® Live MCQ @UI% 33757 ey 1

ey 8%, 'Decision that cannot be taken back.'
- the sentence can be expressed by which of

the following word?

<) Irrevocable ) Rigid
%) Order q) Brief
o Tex: ) Irrevocable

Live MCQ Analytics™: Af6& S@awret!: 40%,
el CGlSl: 19%, ©&F ICA1: 40%

I 9T 2% 72 P WY ACAT WA
T TS Live MCQ GI% ZF5T 5o |
&y 89. Which of the following spelling is
correct?

%) Adulteration ¥) Addultration

) Adultration q) Addulteration
#f$® T&x: ) Adulteration

Live MCQ Analytics™: 0% Teamret: 62%,
el SGvlSl: 9%, TG FAA: 28%

WY 9T 2fE 72T PP Y ECET AT
T CTICS Live MCQ @7 I5GT e |
2% 88. Choose the correct spelling from the
following-

J) Rebelious ¥) Rebelieous

%) Rebellious q) Revellious

#o TeR: =) Rebellious

Live MCQ Analytics™: 7f5% S@awrel: 43%,
e T@qulel: 20%, $6 IEA: 35%

TY: 9T 2fE 72 PP Y ECET GRAAT
T RIS Live MCQ @i* 237567 F5oe |
o% 8¢. What is passive form of the
sentence '"We teach him a good lesson''?
<) He is teaching a good lesson by us

) He is being taught a good lesson by us
) He has been taught a good lesson by us
9) He is taught a good lesson by us

3 ©@T: ¥) He is taught a good lesson by
us

Live MCQ Analytics™: o< Teawret: 61%,
el SGArel: 7%, 6 IEA: 30%

Warnning: Live MCQ™ -a3 7@ IT55 (=136 @27 9141 HAFS | WS AT @ T4 47 929 T2 7o € FEara qe[i]

Join Now p

P> Google Play

= Microsoft ll % Mac App Store

@& livemcg.com Q 01701377322



https://livemcq.com/link/home

LI

Live
MCQ

16 i, sTae fafer

TR 9T &% 5T PEF T ATET GNP
T TS Live MCQ QI*l T35 F5oe 1

Live MCQ

English Wizard
Grammar -

<3fore
-

[T

English Wizard

Grammar

Awmuxuwh\.m
e

& .

&Y 8Y, Which of the following words is not

a singular?

J) every ¥) datum
) agenda q) each
Ffé< T&w: %) agenda

Live MCQ Analytics™: Af5& S@awrs!: 60%,
e Teanel: 10%, Ted FE: 28%

WY 92 9% 7T PEF Y AeHT AT
FIT FIAC® Live MCQ @UI% 33757 e 1

&9 89. The phrase '""Down-to-earth" means -
F) Close to nature ) Soft hearted
) Thrown to the ground ) Realistic
fée Tex: q) Realistic

Live MCQ Analytics™: Ff5% Teamret: 45%,
% Teamel: 20%, ©6F FE: 33%

WY 92T 9% 7T PEF Y ANT AT
T TS Live MCQ B ToT55T Fseey |

29 8v. Which of the following is correct?
<) Twenty miles is a long distance

¥) Twenty miles are a long distance

%) Twenty mile is a long distance

¥) Twenty mile are a long distance

3% B&q: %) Twenty miles is a long

distance

Live MCQ Analytics™: 3% Seawret!: 61%,
T Teanel; 9%, € LA 29%

T 92 2% 72 PP Y ACHT GNP
T FICS Live MCQ Q% 5T ey |
2% 85, 'At arm's length' means -

<) Length of arm  ¥) At a distance

%) Insult ¥) Very near

Hfde Tex: ¥) At a distance

Live MCQ Analytics™: 3% Seamret: 15%,
T TEAMISl: 54%, BB BCAA: 30%

T 9T % 3T P Y ACAT AP
T RIS Live MCQ @™ 237567 5o |
&Y @o. Choose the indirect speech of -
Rahim said, 'T must post the letter'.

<) Rahim said he must post the letter

¥) Rahim said that he must post the letter
) Rahim said he has to post the letter

¥) Rahim said that he had to post a letter
o Tex: ¥) Rahim said that he had to post
a letter

Live MCQ Analytics™: 0% Teamretl: 49%,
el Teanel: 19%, T@d FEA: 31%

T 9T % 72 P 3 ACAT AP
T RIS Live MCQ @i* 237567 5o |
aW @y, 27+ 2%+ 2%+ 2= 2

as) 413 QI) 214
o) 2'° q) 2%
o Te: ¥) 2

Live MCQ Analytics™: 3T Teawrel: 52%,
o1 SGAWIel: 14%, TGF ICA: 33%

IR G2 &7 7T PP AN AT WA E
T TR Live MCQ @I* 237567 5o |

&Y @ Which of the following is not equal
to 0.0675?

F) 67.5 x 10° %) 6.75 x 10™
) 0.625 x 10 9) 0.00675 x 10°
3% T&H: ¥) 0.00675 x 10
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Live MCQ Analytics™: 5f5% Seamret: 43%,
e Teanel: 13%, ©@d FEA: 42%

G 9Z &% T PEE A AHT G F
T TS Live MCQ Q% 33755 P 1
o @o. If (3x + 2y) = 8 and (2x - 2y) = 2,
then find the value of (4 - 3x)

JF) 1.5 q) 3
€) -2 q) -2.5
FoF Te: o) -2

Live MCQ Analytics™: Af6& S@awret: 58%,
e Teanel; 1%, 6 AT 39%

I 42 2% 72 P Y AT FAA T
T FC® Live MCQ @UI% 33757 e 1
&Y @8. In a group of buffaloes and ducks,
the number of legs is 24 more than twice
the number of heads. What is the number
of buffaloes?

F) 12 %) 10
%) 8 ) 6
e Tew: F) 12

Live MCQ Analytics™: Ff5% Seamret: 21%,
e Teanel: 9%, B8 AT 69%

I @2 &7 72 PP AN ACHT WA E
JIT FIAC® Live MCQ @UI% 33757 e 1
% e¢e¢. An employee may claim Tk. 7 for

each kilometer when he travels by taxi and
Tk. 6 for each kilometer when he drives his
own car. If in one week he claimed Tk. 900
for travelling 135 km, how many kilometers
did he travel by taxi?

J) 90 km ¥) 100 km
) 110km q) 120 km
o T&R: F) 90 km

Live MCQ Analytics™: 5f5< Teawrel: 32%,
e TGawel: 5%, $GF PR 62%

T 9Z &H 7T PEE A AHT G F
JIT FIC® Live MCQ @UI% 33757 e 1

&y @Y. A school has a total of 90 students.
There are 30 students taking Physics, 25
taking English, and 13 taking both.
Approximately what percentage of the
students is taking either Physics or English?

JF) 32% q) 36%
%) 47% q) 51%
Hi3F TeR: o) 47%

Live MCQ Analytics™: 7f0% S@awrel: 21%,
O Teanel: 14%, TGF FEA: 63%

WY 92 &% 72 PP Y AT AT
T T Live MCQ Q% 5 Poey |

&Y @A. The average temperature for the
first 4 days of a week is 40.2°C and that of
the last 4 days is 41.3°C. If the average
temperature for the whole week is 40.6°C,
then the temperature on the fourth day is-

) 38.5°C ¥) 40.8°C
%) 41.8°C q) 41.3°C
o Te: o) 41.8°C

Live MCQ Analytics™: 3% Teamret: 25%,
e Taaulel: 9%, TGF PR 64%

IR G2 & 7T PP A LACHT GRAE
T RIS Live MCQ @i* 237567 5o |
&% @v. There are two numbers where the

sum of twice the first number and thrice

the second number is 100. And the sum of
thrice the first number and twice the
second number is 120. Which is the largest

number?

F) 32 9) 12
) 35 9) 14
o TR ) 32

Live MCQ Analytics™: 55 Seamrel: 32%,
el SGAIel: 4%, ©GF IEA: 63%

[ 92 &% 7T PEE A QAT GAAOE
T TR Live MCQ @™ 237567 5o /
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&Y &5. The interest charged on a loan is 'P'
per Tk, 1000 for the first quarter (3
months), and 'Q' per Tk. 1000 for each
month after the first quarter. How much
interest will be charged for the first year on
Tk 10,000?

<) 10(P + Q) <) 10(P + 9Q)

) 4P + 9Q q) None of these

F5e T <) 10(P + 9Q)

Live MCQ Analytics™: Af6& S@awret: 13%,
e Teanel; 7%, 6 I 78%

I 92 &% 7T PRI @AY AT WRATE
T FC® Live MCQ @UI% 33757 e 1

2% Vo, X sells an item to Y at a profit of
28% on his cost and sells the same item to
Z at a loss of 25% on his cost. If Y thus sold
the item to Z a Tk. 2 less than the item to
X, then what is the cost of the item to X?

<) Tk. 200 ¥) Tk. 150
) Tk. 100 q) Tk. 50
fés Tew: 9) Tk. 50

Live MCQ Analytics™: Af5& S@awrst: 5%, o
TGITST: 6%, TG FCAT(: 88%

I 92 &% 7T P @AY AT WRAE
JIT FIAC® Live MCQ @I% 33757 e 1

2y LY, A salesman receives daily wage of
Tk. 250 and earns a commission of 15% on
all sales he makes. How much taka worth of
sales does he need to make in order to
bring his total daily income of Tk. 10007

%) Tk. 6000 ) Tk. 5500

) Tk. 5000 9) Tk. 4500

Ffé< Ta=: o) Tk. 5000

Live MCQ Analytics™: 5f5< TGawrel: 33%,
e TGawel: 4%, TGF FEAT: 61%

YL 9T 2% 72 PEF Y LT WRATE
JIT FIC® Live MCQ @UI% 33757 e 1

&Y W, A train travels 360 km at a uniform
speed. If the speed had been 5 km/h more,
it would have taken 1 hour less for the

same journey. Find the speed of the train.

%) 30 km/hr ) 40 km/hr
) 50 km/hr q) 60 km/hr
foF e ¥) 40 km/hr

Live MCQ Analytics™: 3% Seamret: 27%,
el Seaniel; 5%, 6 A 67%

I 9T 22 7T P Y ACAT GNP
TIY TICS Live MCQ GN* T5755 5o 1
&Y Lo, A man's investment doubles in
every 5 years. If he invested Tk. 5,000 in
each of the years 2010, 2015, 2020 then
what will be the amount received by him in
20257

<) Tk. 30,000 ) Tk. 70,000

) Tk. 80,000 ¥) Tk. 1,50,000

FHféF B&=: %) Tk. 70,000

Live MCQ Analytics™: o Seanrel; 22%, e Teqvrel: 13%,
Te IR 63%

Y 9Z &% 72 FERE A9 AHT GeRADE T (T Live
MCQ @ 3575 T4 |

oY u8, In a family, the father took 1/4 of
the cake and had 3 times as much as each
of the other members had. The total

number of family member is-

JF) 3 Q) 7
M 10 q) 12
S T&=: 71) 10

Live MCQ Analytics™: 75 Seamrel: 14%, Tl
TEIMO: 18%, TG IR 66%

TR 9 9% 7R P Y AT GeANF AT TS
Live MCQ @I* 37557 F34 1

&Y Ve, In 10 years, A will be twice as old as
B was 10 years ago. If A is now 9 years

older than B, then the present age of B is-

F) 19 years ) 29 years
%) 39 years ¥) 49 years
Ffé% B&w: 1) 39 years
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Live MCQ Analytics™: 7fé% Seamret: 21%,
el Teanel; 13%, ©@d FEA: 65%

JIP: 93 &% 7T PR @AY AT WRATE
T FAC® Live MCQ @I% 33757 e 1
¥ LY, A natural number when increased

by 12, equals 160 times reciprocal. The

number is-

JF) 16 9) 8
6 9) 18
T T q) 8

Live MCQ Analytics™: Af5& S@awret: 27%,
TH TGVl 4%, T@F FCATE: 68%

I 92 &% 7T PR Y AT WRATE
T FICC Live MCQ @i% E3T5eT 5o |
2% va, The mean of the data set of 1000
items is 5. From each item 3 is subtracted
and then each number is multiplied by 2.

The new mean will be -

<) 4 ) 5
M 6 q) 7
o Tex: F) 4

Live MCQ Analytics™: 7f5% Teamret: 21%,
e Teanel: 5%, 6 AT 72%

T: 92 2% 72 PP Y AT GeANF
JIT FIAC® Live MCQ @I% 33757 e 1

& Y. The measurement of a rectangle is
16 feet by 12 feet. What is the area of the
smallest circle that can cover this rectangle

entirely (so that no part of the rectangle is
outside the circle)?

) 100 sq. ft %) 100 sq. ft

) 192 sq. ft ¥) 128 sq. ft

Ffée T ) 100m sq. ft

Live MCQ Analytics™: 5f5< T&awretr: 25%,
e Teawel: 12%, ©6d ICEA: 61%

TGl 92 2% 72T PP Y ACAT GNP
JIT FIC® Live MCQ @UI% 33757 e 1

2y s, The perimeter of rectangle is 200
meters. The breadth is 3/7 part of the
length. What is the length?

<) 30m <) 50m
) 60m 9) 70m
o Tex: q) 70m

Live MCQ Analytics™: Af6% S@awret: 47%,
el Teanel; 3%, 6 LA 49%

P GZ &7 7T PR AR QAT GATOF
T IS Live MCQ @7 3757 ey |

Real Time Multi-Player .
Quiz Game

Learn More

/

&Y qo. In the flgure, DE is parallel to BC. If
the area of a triangle ADE is half that of
trapezoid DECB, what is the ratio of AE to
AC-

D E

VAR

F)1:2 ) 1:12
N1:3 9 1:13
W@?‘W:‘ﬂ)l:\h

Live MCQ Analytics™: 6% S@awre!: 6%, T
TEAMIel: 21%, ©6F FEETE: 71%
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I 42 2H 72 PR Y AT G
T TS Live MCQ @* TH5e P |

&y 3. Which of the following countries is
the closest competitor of Bangladesh in the
global RMG business?

<) India ¥) China
%) Vietnam q) Sri Lanka
Ffde Tex: %) Vietnam

Live MCQ AnalyticsTM:‘ir@?? Tl 56%,
el TeanTel: 7%, 6 I 36%

I @2 &7 7T PP Y ACHT G R
T FIC® Live MCQ @UI= 33757 e 1
¥ aX, Which one is the second highest

mountain on the earth?

<) Makalu %) Himalayas
) Annapurna q) K2
o Tew: ) K2

Live MCQ Analytics™: Af5& S@awret: 47%,
e Teanel: 11%, ©@d FEA: 40%

I 92 &% 7T P @AY AT WRAE
FIT FIAC® Live MCQ @UI% 33757 e 1
& qo, 1 Kilogram is equal in-

%) 2.21 lbs ¥) 2.32 lbs

) 2.00 lbs 9) 1.89 lbs

Ffée Tew: ) 2.21 Ibs

Live MCQ Analytics™: 7f5% T@amret: 29%,
e TGawel: 18%, TG ICIA: 52%

I 92 &% 7T PR @AY AT WRAE
FIT FIAC® Live MCQ @I% 33757 e 1
&% q8. According to the 'Global Zero
Campaign' All nuclear weapon will be
dismantled by-

<) 2050 <) 2030

%) 2060 9) 2080

Live MCQ Analytics““:‘fﬂ%?s Tequrel: 0%, e
TGIST: 0%, T&F FRM: 0%

TR 42 2% 72 PR Y AT G
I TS Live MCQ @I TF5e P |

&Y q¢. What is the name of the currency of
Ukraine?

<) Ukrainian hryvnia %) Ukrainian Ruble
9) Ukrainian Dollar q) Lev

Ffé< B&: &) Ukrainian hryvnia

Live MCQ Analytics™: 3% S@amret: 50%,
el TeanTel: 15%, ©@d FAF: 34%

WY 92T 9% 7R PEF Y AHT AT
T T Live MCQ GI% 55T Py |

2¥ qQu, How many times has the SAARC
Summit been held in Bangladesh?

F) 5 ) 3
€ 2 q) 4
WW:?I) 3

Live MCQ Analytics™: 0% Seamret: 23%,
T TEAVISl: 18%, OB BLA: 58%

T 9T % 32 P Y ACET AP
T RIS Live MCQ @i* 237567 5o |
2% Q4. Which country/countries are
separated by the Radcliffe Line?

) Bangladesh-India ¥) India-Pakistan
%) Bangladesh-Myanmar ~ 9) All of these
o Tea: ) India-Pakistan

Live MCQ Analytics™: Ao Taamre: 28%, O
TeAMel: 42%, TG A 28%

TR 9T 2% 52 FEF Y ST GCAAGE W FIS
Live MCQ @il e 356+ 1

&% Qb Qatar is located in-

JF) Western Asia ¥) South Asia

%) East Asia q) Northern Asia
Hf$F TS F) Western Asia

Live MCQ Analytics™: 7f5& Seamrel: 48%, T
TGIS: 17%, ©€F TR 34%

Wt 93 &% 72 PR WY AT GAAGF I TS
Live MCQ @* 3375e] 33 |

&Y 95. The first all-Indian Emperor of

ancient India was-

Warnning: Live MCQ™ -a3 7@ IT55 (=136 @27 9141 HAFS | WS AT @ T4 47 929 T2 7o € FEara qe[i]

Join Now p

P> Google Play

= Microsoft ll % Mac App Store

@& livemcg.com Q 01701377322



https://livemcq.com/link/home

LI

Live
MCQ

16 i, sTae fafer

<) Bindusara ¥) Ashoka
) Chandragupta Maurya <¥) Sarvarthasiddh

Fée Bax: o) Chandragupta Maurya

Live MCQ AnalyticsTM:"'ﬂCB?s Teanel: 38%, &
Teamrel: 21%, TG FCAFE: 39%

T W3 & 72T FEF A YA GeRAAGE FY AICC
Live MCQ @# 3375e] 3554 |

¥ bo, Which of the following is/are
Breton Woods Institution/Institutions?
) IMF ¥) World Bank

%) WTO q) Both (a) and (b).
3 T&: 9) Both (a) and (b).

Live MCQ Analytics™: Af5& S@awre!: 64%,
%1 Teamel: 6%, $6 FCAAI: 29%

I 92 &% 7T PR A AT WRAE
T T Live MCQ @i% E3T5eT 5o |
&% bY. The headquarter of IDA is located

in-

) Washington DC  ¥) Geneva
%) Vienna ) Rome
o e ) Washington DC

Live MCQ Analytics™: Ffé% TGamret: 54%,
el TeanTel; 9%, B6d LA 36%

I @2 &7 7T PP Y ACHT WA E
1Y FIC® Live MCQ @7 35755 5o 1
&% . Which of the following is the
hardest rock?

<) Granite ¥) Coal
) Chalk 9) Diamond
33 ©&=: 9) Diamond

Live MCQ AnalyticsTl“:‘fﬂC@?s Teamel: 60%,
e Teanel: 8%, € ICATE: 30%

Y 9T 2% 7T FEF 7Y LT WRATE
FIT FIC® Live MCQ @UI% 33757 ey 1
&9 b9, Which one is the top country in

terms of per capita greenhouse gas

emission?
<) Japan ¥) China
) USA q) Brazil

Hf6F TeR: ) UsA

Live MCQ Analytics™: 7f5% S@awret: 41%,
9 Teanel: 28%, T@F FAN: 29%

I 9T 2% 72 P WY ACAT WA
T AT Live MCQ @™ 337567 3o |

&Y v8. The first Indigo Revolt was
introduced in which district of Bangladesh?

F) Magura %) Faridpur
?) Jashore ¥) Rangpur
6% ©&=: 1) Jashore

Live MCQ Analytics™: Af5& S@awret: 28%,
% TeanTel: 31%, ©@F FE: 39%

I G2 &% 7T PP AN AT WRAE
T TS Live MCQ % 5T F5o7 |

2% v¢. Who wins Ballon d'Or 20227

¥) Lionel Messi

%) Neymar ¥) Cristiano Ronaldo
7fé< ©E: F) Karim Bengema

Live MCQ Analytics™: Af5& S@awret: 61%,
T TVl 6%, T@F FCAT: 32%

IR G2 & 7T P Y ACHT GCRAE
T TS Live MCQ % T35 5o |

&Y v, Who is not Captain of the Football
World Cup 2022 Team?

<) Hugo Lloris ) Kylian Mbappe

) Lionel Messi ¥) Neymar

Live MCQ Analytics™: o Saawrel: 0%, o
TGMrSl: 0%, TEF FCA: 0%

IR G2 & 7T PP A AT WA E
T TS Live MCQ % Z5eT 5o |

&% 4. The Sustainable Development Goals
(SDGs) consist of ____ goals.

) Karim Bengema

F) 27 ) 21
A 17 q) 30
S Tex: A1) 17

Live MCQ Arlaly’cicsTM:Wﬁﬂ5 Teanl: 71%,
T Teanel; 1%, S8 I 26%
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IR 9T &% 72 P W ACAT WA
I T Live MCQ GI% ZF5oT 5o |

&% bb. The 7th March speech of
Bangabandhu, the Father of the Nation, was
recognized as part of the world's
documentary heritage by-

<) UNESCO ¥) UNICEF
2) UNDP q) UNFCCC
3+ TR ) UNESCO

Live MCQ Analytics™: #f6& S@awret: 71%,
e Teanel: 1%, 6 ICEAAE: 27%

I 92 &% 7T PRI @AY AT WRATE
T FC® Live MCQ @UI% 33757 e 1
&Y ¥, The famous Satire 'Gulliver's Travel'
was written by-

) J. K. Rowling %) Jonathan Swift
%) William Shakespeare ) Jane Austen
3% T@: <) Jonathan Swift

Live MCQ Analytics™: Af5& S@awret!: 69%,
el TeanTel: 3%, ©6d LA 27%

I 92 &% 7T PRI @AY AT WRATE
T TS Live MCQ @i% E3T5eT 509 |
¥ So. COP 27 was held in -

<) Sharm el-Sheikh, Egypt

<) Cairo, Egypt

9) Paris, France

¥) Washington, USA

(3 ©&GF: F) Sharm el-Sheikh, Egypt

Live MCQ AnalyticsTl“:Vﬂcé\Ns Teamel: 66%,
e TeAnel: 4%, € AT 28%

Y 9T 2% 7T PP 7Y LT WRATE
FIT FIC® Live MCQ @UI% 33757 ey 1
¥ 3. RAM belongs to which kind of
memory?

) Auxiliary Memory
%) Cache Memory  ¥) None of these

o Tex: <) Main Memory

<) Main Memory

Live MCQ Analytics™: 0% Seawret: 58%,
O Teanel: 12%, ©GF FEA: 29%

T 92 22 72 PP Y AT GAF
T AT Live MCQ @™ 337567 5o |

2y 5. The amount of time a message takes
to traverse a system is called -

<) Bandwidth

) Latency

M3 B&R: o) Latency
Live MCQ Analytics™: Af6& S@awret: 33%,
T TAVISl: 22%, BB BFCAA: 43%

T 9T 22 72 P WY ACAT RN
T TS Live MCQ Q% 5 ey |
&Y 59, Which one is the first program of
Microsoft?

JF) Windows 98

) Windows XP
Ffé® ©&F: ) MS DOS
Live MCQ Analytics™: Af5& S@awre!: 60%,
F TVl 9%, T@F FCAT: 30%

T 9T &% 7T P N AT RN
T TS Live MCQ % T35 5o |

2 58. Computer monitor is also known as

¥) Compiler
q) All of these

¥) Windows 7
¥) MS DOS

F) DVU %) UVD
7) VDU q) CCTV
FHféF T&=: o) VDU

Live MCQ Analytics™: o< Teawret: 48%,
9%l SGIMlSl: 10%, ©&F ICA: 41%

I 9T 2% 7T PEF 7Y AT ARATE
TIYT TICS Live MCQ GN* T3755 5o 1
&y 5¢. Which one of the following stores
more data than a DVD?

<) CD Rom <) Floppy disk
) Red-Ray Disk ¥) Blu-Ray Disk
fé< e ©) Blu-Ray Disk

Live MCQ Analytics™: Af6& S@awret: 33%,
T TGNl 24%, TGF FEA: 41%
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IR 9T &% 72 P W ACAT WA
I T Live MCQ GI% ZF5oT 5o |

&y 5Y. A modem is connected in between a
telephone line and a-

) communication adapter ¥) serial port

) computer q) network

e T@: o) computer

Live MCQ Analytics™: 5fé% Seamret: 27%,
O T@AUISl: 33%, OB ICA: 39%

I 92 2% 72 PR Y AT AP
JIYT CTICE Live MCQ @ TH5e Fee |

&Y 54. A channel for communicating across

a boundary between two or more subsystem

is known as -

<) Data path %) Walk through
) Act gram ¥) Interface
f$< B&: 9) Interface

Live MCQ Analytics™: Af5& S@awret: 28%,
e el 16%, ©@d FEA: 55%

I 42 2% 72 PR Y AT FAA P
FIT FIAC® Live MCQ @UI% 33757 e 1

& dv, The process of copying files to a CD-

ROM is known as -

) Zipping <) Burning
%) Digitizing ¥) Ripping
#fé< ©@: <) Burning

Live MCQ Analytics™: Af5& S@awret: 23%,
el SeanTel: 23%, ©@d FE: 52%

I 42 2% 72 PR Y AT FAA P
TN FICE Live MCQ 1% ZH5T T4/
& 5. RTGS is a -

<) Payment system

) Governance system

%) Right-based group

9) An anti-virus software

3% @ F) Payment system

Live MCQ Analytics™: 7f5% Teamret: 41%,
e TGawel: 8%, TGH FAA: 49%

IR G2 &7 7T P AN AT WA R
T CAIC@ Live MCQ @7 T35 507 |
&Y doo. Which technology is used by crypto
currencies?

) Database ) Spreadsheet

9) Blockchain q) Text file

o Tex: ) Blockchain

Live MCQ Analytics™: 0% S@awrel: 58%,
el SGlSl: 5%, TG FAA: 35%

T 42 2% 72 PP Y ACHT GNP
T TS Live MCQ % 5T F5o7 |
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